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B = WA 1 40 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 42 11
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B = 1B 2 28 0 7 6 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 1 0 52 [§
3.8 53.8 0.0 135 115 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 154 0.0 0.0 0.0 00 0.0 1.9 00| 100.0
B @ E 8 20 80 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 1 5 3 0 0 0 1 0 112 14
17.9 71.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.9 45 2.7 0.0 00 0.0 0.9 0.0 | 1000
B 2 ) A 17 72 0 0 0 0 0 1 0 12 0 0 0 0 0 0 0 0 2 9 1 0 0 0 1 0 115 26
148 62.6 0.0 0.0 0.0 0.0 0.0 0.9 0.0 104 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 7.8 0.9 0.0 00 0.0 0.9 00| 100.0
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- 378 55.6 0.0 0.0 0.0 0.0 0.0 22 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 1.5 0.0 0.0 0.0 0.0 0.0 | 1000
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4.7 74.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 18.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 23 0.0 0.0 0.0 00 0.0 0.0 0.0 | 1000
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425 19.5 0.0 18.4 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 195 0.0 0.0 0.0 00 0.0 0.0 00| 100.0
B % & 8 0 5 0 14 1 0 0 0 0 0 0 0 2 0 0 0 0 0 8 0 0 0 0 0 7 0 37 10
al 0.0 135 0.0 378 2.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 54 0.0 0.0 0.0 0.0 0.0 21.6 0.0 0.0 0.0 00 0.0 18.9 00| 100.0
B = 1B 2 18 0 16 8 0 0 0 0 0 0 0 0 0 0 0 4 0 2 0 0 0 0 0 2 0 52 6
3.8 34.6 0.0 30.8 154 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.7 0.0 3.8 0.0 0.0 0.0 00 0.0 3.8 00| 100.0
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34.2 57.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.9 1.8 0.0 00 0.0 0.9 0.0 | 1000
B 2 ) A 18 59 0 0 0 0 0 2 0 32 0 0 0 0 0 0 0 0 3 1 1 0 0 0 1 0 117 24
15.4 50.4 0.0 0.0 0.0 0.0 0.0 1.7 0.0 274 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 0.9 0.9 0.0 00 0.0 0.9 00| 100.0
B & E 8 97 42 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 144 30
- 67.4 29.2 0.0 0.0 0.0 0.0 0.0 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 0.7 0.0 00 0.0 0.0 0.0 | 1000
B = WA 2 25 0 0 0 0 0 0 0 17 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 45 8
44 55.6 0.0 0.0 0.0 0.0 0.0 00 0.0 378 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 22 0.0 00 0.0 00 0.0 0.0 0.0 | 1000
B B & B 5 8 0 0 0 0 0 0 0 7 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 23 9
21.7 348 0.0 0.0 0.0 0.0 0.0 0.0 0.0 30.4 0.0 0.0 0.0 0.0 0.0 0.0 130 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 | 1000
B A = 8 78 2 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 96 0 0 0 0 0 0 0 178 40
438 11 0.0 0.0 0.0 0.0 0.0 0.0 0.6 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 53.9 0.0 00 0.0 0.0 0.0 0.0 0.0 | 1000
B & R #H 9 0 0 0 1 0 0 0 1 0 0 0 23 0 0 0 0 0 28 0 0 0 0 0 1 0 63 15
‘ ’ 14.3 0.0 0.0 0.0 1.6 0.0 0.0 0.0 1.6 0.0 0.0 0.0 36.5 0.0 0.0 0.0 0.0 0.0 444 0.0 0.0 0.0 00 0.0 1.6 0.0 | 1000
£ ¥ & 47 41 0 0 0 0 0 5 0 1 0 0 0 0 0 0 0 0 2 0 0 0 0 1 0 0 97 19
485 423 0.0 0.0 0.0 0.0 0.0 52 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 21 0.0 0.0 0.0 0.0 1.0 0.0 00| 1000
E 8 & 3 34 0 0 0 0 0 8 1 0 0 0 0 0 15 0 0 1 0 0 1 1 0 0 0 0 64 13
4.7 53.1 0.0 0.0 0.0 0.0 0.0 125 1.6 0.0 0.0 0.0 0.0 0.0 234 0.0 0.0 1.6 0.0 0.0 1.6 1.6 0.0 0.0 0.0 0.0 | 1000
T 74 44 0 0 2 0 0 0 1 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 122 27
60.7 36.1 0.0 0.0 1.6 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.0 00 0.0 0.0 00| 1000
x E & 15 0 0 1 0 0 0 0 0 0 0 0 19 0 0 0 0 0 31 1 0 0 0 0 1 0 68 11
221 0.0 0.0 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 279 0.0 0.0 0.0 0.0 0.0 456 1.5 0.0 0.0 00 0.0 1.5 0.0 | 1000
2 o 2,861 418 0 52 23 0 0 20 5 61 0 2 46 1 15 0 17 7 259 32 11 5 0 3 20 0| 3,858 888
742 10.8 0.0 1.3 0.6 0.0 0.0 0.5 0.1 1.6 0.0 0.1 1.2 0.1 04 0.0 04 0.2 6.7 0.8 0.3 0.1 00 0.1 0.5 00| 1000
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5 B W 2,009 0 0 3 4 0 0 0 2 1 0 0 0 0 0 0 1 1 48 167 26 19 1 9 8 2| 2,301 593
873 0.0 0.0 0.1 0.2 0.0 0.0 0.0 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.1 21 7.3 11 0.8 0.1 0.4 0.3 0.1 | 100.0

B % % & 4 47 0 1 1 0 0 0 0 0 0 0 0 0 0 0 1 0 4 1 1 0 0 0 1 0 61 15
6.6 770 0.0 1.6 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 0.0 6.6 1.6 1.6 0.0 00 0.0 1.6 00| 100.0

R 49 63 0 0 5 0 0 0 0 0 0 0 0 1 0 0 1 2 138 2 0 2 0 3 1 0 267 52
18.4 23.6 0.0 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 04 0.0 0.0 04 0.7 51.7 0.7 0.0 0.7 00 11 04 00| 100.0

B = = 8 14 35 0 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 3 0 0 0 1 0 0 90 19
15.6 38.9 0.0 5.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35.6 3.3 0.0 0.0 00 1.1 0.0 00| 100.0

B & & 8 0 7 0 6 1 0 0 0 1 0 0 0 1 0 0 0 0 0 17 0 0 0 0 0 4 0 37 10
al 0.0 18.9 0.0 16.2 2.7 0.0 0.0 0.0 2.7 0.0 0.0 0.0 2.7 0.0 0.0 0.0 0.0 0.0 459 0.0 0.0 0.0 00 0.0 10.8 00| 100.0

B = f1 B 1 33 0 5 4 0 0 0 0 0 0 0 0 0 0 0 1 0 10 1 0 0 0 0 1 0 56 2
1.8 58.9 0.0 8.9 71 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 17.9 1.8 0.0 0.0 00 0.0 1.8 00| 100.0

B @ E 8 12 84 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 7 2 0 0 0 1 0 109 17
11.0 771 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 6.4 1.8 0.0 00 0.0 0.9 00| 100.0

B 2 ) A 9 72 0 0 0 0 0 0 0 22 0 0 0 0 0 0 0 0 3 12 1 1 0 0 1 0 121 20
7.4 59.5 0.0 0.0 0.0 0.0 0.0 00 0.0 182 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 25 9.9 0.8 0.8 00 0.0 0.8 00| 100.0

B & E 8 42 87 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 8 1 1 0 0 0 0 140 34
- 30.0 62.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 5.7 0.7 0.7 00 0.0 0.0 00| 100.0

B = WA 1 31 0 0 0 0 0 1 0 10 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 44 9
23 70.5 0.0 0.0 0.0 0.0 0.0 23 0.0 22.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 23 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B B & B 2 15 0 0 0 0 0 1 0 2 0 0 0 0 0 0 0 0 1 1 1 0 0 0 0 0 23 9
8.7 65.2 0.0 0.0 0.0 0.0 0.0 43 0.0 8.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 43 43 43 0.0 00 0.0 0.0 00| 100.0

B A = 8 15 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 171 0 0 1 0 0 0 0 188 30
8.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 91.0 0.0 0.0 0.5 00 0.0 0.0 00| 100.0

B &R H 4 0 0 0 0 0 0 0 1 0 0 0 5 0 0 0 0 1 54 0 0 0 0 0 0 0 65 13
‘ ; 6.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.5 0.0 0.0 0.0 7.7 0.0 0.0 0.0 0.0 1.5 83.1 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

= ¥ & 12 76 0 0 0 0 0 1 0 3 0 0 0 0 0 0 0 0 2 5 1 2 0 0 1 0 103 13
11.7 73.8 0.0 0.0 0.0 0.0 0.0 1.0 0.0 29 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 49 1.0 1.9 00 0.0 1.0 00| 1000

E 8 & 0 48 0 0 0 0 0 2 0 2 0 0 0 0 3 0 0 0 0 5 3 0 0 0 0 0 63 14
0.0 76.2 0.0 0.0 0.0 0.0 0.0 3.2 0.0 3.2 0.0 0.0 0.0 0.0 48 0.0 0.0 0.0 0.0 79 48 0.0 00 0.0 0.0 00| 100.0

T 19 95 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 0 0 0 1 0 0 124 25
153 76.6 0.0 0.0 0.8 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.2 32 0.0 0.0 0.0 0.8 0.0 0.0 | 1000

x F & 6 2 0 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 56 0 0 0 0 0 0 0 67 12
9.0 3.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 45 0.0 0.0 0.0 0.0 0.0 83.6 0.0 0.0 0.0 00 0.0 0.0 0.0 | 1000

2 5t 2,199 695 0 20 16 0 0 5 5 40 0 0 9 1 3 0 4 4 545 216 36 26 1 14 18 2| 3,859 887
57.0 18.0 0.0 0.5 04 0.0 0.0 0.1 0.1 1.0 0.0 0.0 0.2 0.1 0.1 0.0 0.1 0.1 14.1 5.6 0.9 0.7 0.1 0.4 0.5 0.1 | 100.0
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1-5 B4t J0y4[A-CD] FELE% (RMEOMEHER)
B & 5] = [I5] 15| [I5] 5] 15| [I5] 5] 15| [I5] 5] E-3 E )]l X EHl il B~ ®’ if] L z Z & x
BB | x| = | &2 |58 | # |2 |8 |8|8 | %x|a I oo )
T | B | R | & | 2| w|&|w| = |® | x|#|#t Ed
% | w | 2 | #& | @ [ 2 |0 | ®B|w|#|=s|R 4 s | m

Bl # | 5 | @ | @ | B | B | ey | @ | @ | ey | @& | @ | B | & | 6y | @ | B | # | w | & |@- | @ | & | & | ® | s | & A

E B m 2,276 0 0 11 20 0 0 0 0 1 0 2 0 0 0 0 3 0 5 3 0 3 0 0 6 0| 2,330 564
97.7 0.0 0.0 05 0.9 0.0 0.0 0.0 0.0 0.1 0.0 0.1 0.0 0.0 0.0 0.0 0.1 0.0 0.2 0.1 0.0 0.1 0.0 0.0 0.3 0.0 | 100.0

B % % A 7 22 0 1 2 0 1 0 0 0 0 0 0 0 0 0 30 0 0 0 0 0 0 0 0 0 63 13
11.1 349 0.0 1.6 3.2 00 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 476 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

- AW 195 11 0 0 31 0 0 0 0 0 0 0 2 1 0 0 0 1 13 0 0 0 0 0 0 0 254 65
76.8 43 0.0 0.0 12.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.4 0.0 0.0 0.0 0.4 5.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B % # 8 78 3 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 85 24
91.8 3.5 0.0 24 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B & & 8 0 1 0 12 10 0 0 0 0 0 0 0 3 0 0 0 0 0 2 0 0 0 0 0 9 0 37 10
0.0 2.7 0.0 324 27.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.1 0.0 0.0 0.0 0.0 0.0 54 0.0 0.0 0.0 0.0 0.0 24.3 0.0 | 100.0

B = 0BT 2 9 0 10 25 0 0 0 0 1 0 0 1 0 0 0 7 0 0 0 0 0 0 0 1 0 56 2
i 3.6 16.1 0.0 17.9 446 0.0 0.0 0.0 0.0 1.8 0.0 0.0 1.8 0.0 0.0 0.0 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 | 100.0

B @ 2 8 7 100 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 1 1 0 0 0 1 0 112 14
6.3 89.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 09 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 09 0.0 0.0 0.0 0.9 0.0 | 100.0

B 2 B 26 78 0 0 0 0 0 0 0 6 0 0 0 0 0 0 0 0 3 0 1 0 0 0 2 0 116 25
224 67.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 52 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 0.0 0.9 0.0 0.0 0.0 1.7 0.0 | 100.0

B & B 8 30 116 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 147 27
§ 204 78.9 0.0 0.0 0.0 00 0.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B = WA 1 37 0 0 0 0 0 0 3 2 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 44 9
2.3 84.1 0.0 0.0 0.0 0.0 0.0 0.0 6.8 45 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B B & B 5 12 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 1 0 0 0 0 0 1 0 23 9
21.7 52.2 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 174 0.0 43 0.0 0.0 0.0 0.0 0.0 43 0.0 | 100.0

B A& = 8 126 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 55 0 0 0 0 0 0 0 182 36
69.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 30.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B & R # 17 0 0 0 1 0 0 0 1 0 0 1 33 0 0 0 0 0 13 0 0 0 0 0 0 0 66 12
’ ; 258 0.0 0.0 0.0 1.5 0.0 0.0 0.0 1.5 0.0 0.0 1.5 50.0 0.0 0.0 0.0 0.0 0.0 19.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

& F & 4 97 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 104 12
3.8 93.3 1.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

E B A 1 57 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 62 15
1.6 91.9 0.0 0.0 0.0 0.0 0.0 0.0 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 48 0.0 0.0 0.0 0.0 0.0 | 100.0

T 92 26 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 119 30
773 21.8 0.0 0.0 038 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

* F & 22 0 0 3 0 0 0 0 0 0 0 1 25 0 0 0 0 0 10 0 0 1 0 0 1 0 63 16
34.9 0.0 0.0 48 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 39.7 0.0 0.0 0.0 0.0 0.0 15.9 0.0 0.0 1.6 0.0 0.0 1.6 0.0 | 100.0

~ = 2,889 569 1 39 90 0 1 2 6 11 0 5 64 1 0 0 44 1 105 5 5 4 0 0 21 0| 3,863 883
= " 748 14.7 0.1 1.0 2.3 00 0.1 0.1 0.2 03 0.0 0.1 1.7 0.1 0.0 0.0 11 0.1 2.1 0.1 0.1 0.1 0.0 0.0 0.5 0.0 | 100.0
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B & 5] = [I5] 15| [I5] 5] 15| [I5] 5] 15| [I5] 5] E-3 E i X EHl il B~ R’ ] L z % & x
BB | x| = | &2 |58 | # |2 | &8 |88 | x| a I oo )
T | B | R | & | 2| w|&|w| = |® | x|# |t E
% | w | 2 | #& | @ [ 2 |0 | ®B | w|#| s |R 4 s | m

Bl # | w5 | @ | @ | B | B | ey | @ | @ | ey | @& | @ | B | & | 6y | B | B | # | w | w |@- | @ | & | & | m | s | & A

& B ® 2,261 0 0 1 0 0 0 1 0 1 0 1 2 0 0 0 0 0 11 12 2 1 1 0 5 0| 2,299 595
98.3 0.0 0.0 0.1 0.0 0.0 0.0 0.1 0.0 0.1 0.0 0.1 0.1 0.0 0.0 0.0 0.0 0.0 05 0.5 0.1 0.1 0.1 0.0 0.2 0.0 | 100.0

B % % A 8 50 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 60 16
13.3 83.3 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 1.7 0.0 0.0 0.0 0.0 1.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

- AW 134 44 0 0 0 0 0 0 1 0 0 1 2 1 0 0 0 1 80 0 0 0 0 0 0 0 264 55
50.8 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.4 0.0 0.0 0.4 0.8 0.4 0.0 0.0 0.0 0.4 30.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B % E 8 21 37 0 13 0 0 0 0 0 0 0 1 0 0 0 0 0 0 20 0 0 0 0 0 0 0 92 17
228 40.2 0.0 141 0.0 00 0.0 0.0 0.0 0.0 0.0 11 0.0 0.0 0.0 0.0 00 0.0 21.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B & & 8 2 6 0 11 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 0 0 0 0 0 8 0 34 13
5.9 17.6 0.0 324 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.6 0.0 0.0 0.0 0.0 0.0 235 0.0 | 100.0

B = f1 AT 2 28 0 15 1 0 0 0 0 0 0 0 0 0 0 0 0 1 3 0 0 0 0 0 1 0 51 7
f 3.9 54.9 0.0 294 20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 5.9 0.0 0.0 0.0 0.0 0.0 20 0.0 | 100.0

B @ 2 8 5 105 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 1 0 112 14
45 93.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 | 100.0

TN 8 106 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 3 0 1 0 0 0 1 0 121 20
6.6 87.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 25 0.0 0.8 0.0 0.0 0.0 0.8 0.0 | 100.0

B & E 6 5 139 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 145 29
i 34 95.9 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B = WA 1 40 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 42 11
2.4 95.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B B & B 5 18 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 24 8
20.8 75.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 42 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B A& = 8 22 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 163 0 0 0 0 0 0 0 187 31
11.8 0.0 0.0 05 0.0 0.0 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 87.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B & R 5 0 0 4 0 0 0 0 1 0 0 0 2 0 0 0 0 0 53 0 0 0 0 0 0 0 65 13
’ ; 7.7 0.0 0.0 6.2 0.0 0.0 0.0 0.0 1.5 0.0 0.0 0.0 3.1 0.0 0.0 0.0 0.0 0.0 81.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

& F & 9 89 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 98 18
9.2 90.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

E B A 0 65 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 65 12
0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

T 9 109 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 118 31
7.6 924 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

* F & 6 1 0 4 0 0 0 0 1 0 0 0 3 0 0 0 0 0 51 0 0 0 0 0 1 0 67 12
9.0 1.5 0.0 6.0 0.0 0.0 0.0 0.0 1.5 0.0 0.0 0.0 45 0.0 0.0 0.0 0.0 0.0 76.1 0.0 0.0 0.0 0.0 0.0 1.5 0.0 | 100.0

~ = 2,503 837 0 49 1 0 0 1 4 3 0 6 9 1 0 0 1 2 392 13 3 1 1 0 17 0| 3,844 902
= " 65.1 21.8 0.0 1.3 0.1 00 0.0 0.1 0.1 0.1 0.0 0.2 0.2 0.1 0.0 0.0 0.1 0.1 10.2 0.3 0.1 0.1 0.1 0.0 04 0.0 | 100.0




GlE

2=
L

AR Ty - &EH)
7

EBEEK (N)

1-7 BInvsl BRG] FELIE% (FMfEOMRER)
)5 & 5] = [I5] 5] 15| 5] 15| [I5] 5] 15| [I5] =] E-3 E )]l X EHl il B~ B’ if] i z % & x
BB | x| = | &2 |5 | # |2 |8 |22| 8| %x|a I oo )
T | B | R | & | 2| w|&|w|x|® | x|# |t Ed
% | w | 2 | & | @ | &2 || B | w|w|=|R 4 s | &

Bl # | w5 | @ | @ | B | B | ey | B | @ | @y | @& | @ | B | & | 6y | & | B | # | w | & |@- | @ | & | & | ® | s | & A

& B ® 2,316 0 0 6 16 0 0 1 0 1 0 1 0 0 0 1 3 0 2 0 0 0 0 1 4 0| 2,352 542
98.5 0.0 0.0 0.3 0.7 0.0 0.0 0.1 0.0 0.1 0.0 0.1 0.0 0.0 0.0 0.1 0.1 0.0 0.1 0.0 0.0 0.0 0.0 0.1 0.2 0.0 | 100.0

B %5 % A 10 20 0 1 1 0 0 0 0 0 0 0 0 0 0 0 34 0 0 0 0 0 0 0 0 0 66 10
15.2 30.3 0.0 15 15 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 515 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

- AW 227 1 0 0 8 0 0 0 0 0 0 0 3 0 0 0 0 14 5 0 0 1 0 0 0 0 259 60
87.6 04 0.0 0.0 3.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.2 0.0 0.0 0.0 0.0 5.4 1.9 0.0 0.0 0.4 0.0 0.0 0.0 0.0 | 100.0

B % # 8 78 2 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 1 2 0 0 0 0 0 0 0 87 22
89.7 2.3 0.0 46 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 11 23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B & & 8 2 1 0 12 7 0 0 0 0 0 0 0 3 0 0 0 0 0 2 0 0 0 0 0 9 0 36 11
5.6 2.8 0.0 333 19.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.3 0.0 0.0 0.0 0.0 0.0 5.6 0.0 0.0 0.0 0.0 0.0 25.0 0.0 | 100.0

B = f1 BT 3 1 0 17 20 0 0 0 0 0 0 0 0 1 0 0 9 1 0 0 0 0 0 0 1 0 53 5
f 5.7 19 0.0 32.1 37.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 0.0 17.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 | 100.0

B @ 2 6 79 26 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 109 17
725 23.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

TN 85 7 0 0 0 0 0 1 0 10 0 0 0 0 0 0 0 0 2 1 0 0 0 0 1 0 107 34
79.4 6.5 0.0 0.0 0.0 0.0 0.0 09 0.0 9.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 19 0.9 0.0 0.0 0.0 0.0 0.9 0.0 | 100.0

B & B 8 129 8 0 0 0 0 0 2 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 140 34
i 92.1 5.7 0.0 0.0 0.0 00 0.0 14 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B = WA 23 6 0 0 0 0 0 0 1 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 39 14
59.0 15.4 0.0 0.0 0.0 0.0 0.0 0.0 2.6 23.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B B & B 7 6 0 0 0 0 0 0 0 7 1 0 0 0 0 0 3 0 0 0 1 0 0 0 0 0 25 7
28.0 240 0.0 0.0 0.0 00 0.0 0.0 0.0 28.0 40 0.0 0.0 0.0 0.0 0.0 12.0 0.0 0.0 0.0 40 0.0 0.0 0.0 0.0 0.0 | 100.0

B A& = 8 153 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 21 0 0 0 0 0 0 0 178 40
86.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.2 118 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

B & R H 18 0 0 0 1 0 0 0 1 0 0 0 34 0 0 0 0 3 8 0 0 0 0 0 0 0 65 13
’ ; 27.7 0.0 0.0 0.0 1.5 0.0 0.0 0.0 1.5 0.0 0.0 0.0 52.3 0.0 0.0 0.0 0.0 4.6 123 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

& F & 49 27 0 0 0 0 0 9 0 3 0 0 0 0 0 8 0 0 0 1 0 0 0 0 0 0 97 19
50.5 27.8 0.0 0.0 0.0 0.0 0.0 9.3 0.0 3.1 0.0 0.0 0.0 0.0 0.0 8.2 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

E B & 35 13 0 0 0 0 0 4 2 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 57 20
61.4 22.8 0.0 0.0 0.0 0.0 0.0 70 3.5 0.0 0.0 0.0 0.0 0.0 5.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

T 108 13 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 122 27
88.5 10.7 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

* F & 47 1 0 1 1 0 0 0 0 0 0 1 12 0 0 0 0 0 2 0 0 0 0 0 1 0 66 13
71.2 1.5 0.0 15 1.5 0.0 0.0 0.0 0.0 0.0 0.0 1.5 18.2 0.0 0.0 0.0 0.0 0.0 3.0 0.0 0.0 0.0 0.0 0.0 1.5 0.0 | 100.0

~ = 3,369 132 0 1 54 0 0 17 5 34 1 2 52 1 3 10 49 23 44 2 1 1 0 1 16 0| 3,858 888
= " 87.3 34 0.0 11 14 00 0.0 04 0.1 09 0.1 0.1 13 0.1 0.1 03 13 0.6 11 0.1 0.1 0.1 0.0 0.1 04 0.0 | 100.0
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& = 1=} = =] =] =] Iz} =] =] Iz} =] =] Iz} E-3 E n X il il =~ B’ il] Liri % % a

B8 w5 | % | = |5 |=x|# |2 | & |2|8|%x|a sl . o .

T 7| R | & | |w|a |8 5| ® | x| ®|® 2

B | om | & | & | @ | & | 0| B | w | ® | B8 | R ﬁ g | &=

Bt w | w | m | w | e | e | & | & | s | s | o | & | & | & | o | | | & | om | omo|me | om | wm | m | ow | os | s | A

5 B W 2,295 0 0 7 17 0 0 0 0 3 0 1 0 0 0 1 2 0 6 6 0 3 0 1 5 0| 2,347 547
978 0.0 0.0 0.3 0.7 0.0 0.0 0.0 0.0 0.1 0.0 0.1 0.0 0.0 0.0 0.1 0.1 0.0 0.3 0.3 0.0 0.1 00 0.1 0.2 00| 100.0

B % % & 9 25 0 0 1 0 0 0 0 0 0 1 0 0 0 0 24 0 0 0 0 0 0 0 0 0 60 16
15.0 41.7 0.0 0.0 1.7 0.0 0.0 00 0.0 0.0 0.0 1.7 0.0 0.0 0.0 0.0 40.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0 00| 100.0

R 220 4 0 0 10 0 0 0 0 0 0 0 3 0 0 0 0 3 10 0 0 1 0 0 0 0 251 68
87.6 1.6 0.0 0.0 40 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.2 0.0 0.0 0.0 0.0 1.2 40 0.0 0.0 0.4 00 0.0 0.0 00| 100.0

B = = 8 75 4 0 5 0 2 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 90 19
83.3 4.4 0.0 5.6 0.0 22 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 44 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B % & 8 2 2 0 7 9 0 0 0 0 0 0 0 6 0 0 0 0 0 2 0 0 0 0 0 9 0 37 10
al 54 54 0.0 189 243 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.2 0.0 0.0 0.0 0.0 0.0 54 0.0 0.0 0.0 00 0.0 243 00| 100.0

B = 1B 3 8 0 17 17 0 0 0 0 0 0 0 0 1 0 0 8 0 0 0 0 0 0 0 1 0 55 3
55 145 0.0 30.9 30.9 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 145 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 00| 100.0

B @ E 8 67 38 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 108 18
62.0 35.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B 2 ) A 83 8 0 0 0 0 0 0 0 12 0 0 0 0 0 1 0 0 3 0 0 1 0 0 1 0 109 32
76.1 7.3 0.0 0.0 0.0 0.0 0.0 00 0.0 11.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 0.0 2.8 0.0 00 0.9 00 0.0 0.9 00| 100.0

B & E 8 121 13 0 0 0 0 0 3 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 139 35
- 87.1 94 0.0 0.0 0.0 0.0 0.0 22 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B = WA 25 8 0 0 0 0 0 0 1 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 40 13
62.5 20.0 0.0 0.0 0.0 0.0 0.0 00 25 15.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B B & B 7 4 0 0 0 0 0 0 0 6 2 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 22 10
318 18.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 273 9.1 0.0 0.0 0.0 0.0 0.0 13.6 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B A = 8 148 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 25 0 0 0 0 0 1 0 175 43
84.6 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 143 0.0 0.0 0.0 00 0.0 0.6 00| 100.0

B &R 17 0 0 0 1 0 0 0 1 0 0 0 34 0 0 0 0 0 13 0 0 0 0 0 0 0 66 12
‘ ’ 258 0.0 0.0 0.0 1.5 0.0 0.0 0.0 1.5 0.0 0.0 0.0 515 0.0 0.0 0.0 0.0 0.0 19.7 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

£ ¥ & 14 43 0 0 0 1 0 14 0 5 0 0 0 0 0 20 0 1 0 1 0 0 0 0 0 0 99 17
14.1 434 0.0 0.0 0.0 1.0 0.0 14.1 0.0 51 0.0 0.0 0.0 0.0 0.0 20.2 0.0 1.0 0.0 1.0 0.0 0.0 00 0.0 0.0 00| 100.0

E 8 & 35 12 0 0 0 0 0 2 3 1 0 0 0 0 1 0 0 0 0 0 1 1 0 0 0 0 56 21
62.5 214 0.0 0.0 0.0 0.0 0.0 3.6 54 1.8 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 1.8 1.8 00 0.0 0.0 0.0 | 1000

T 100 18 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 120 29
83.3 15.0 0.0 0.8 0.0 0.0 0.0 00 0.8 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0 00| 1000

x F & 26 2 0 0 1 0 0 0 0 0 0 1 24 0 0 0 0 0 8 0 0 0 0 0 2 0 64 15
40.6 3.1 0.0 0.0 1.6 0.0 0.0 0.0 0.0 0.0 0.0 1.6 375 0.0 0.0 0.0 0.0 0.0 125 0.0 00 0.0 00 0.0 3.1 0.0 | 1000

2 o 3,247 189 0 37 56 3 0 19 7 36 2 3 67 1 1 23 37 5 1Al 7 1 6 0 1 19 0| 3,838 908
84.6 49 0.0 1.0 1.5 0.1 0.0 0.5 0.2 0.9 0.1 0.1 1.7 0.1 0.1 0.6 1.0 0.1 1.8 0.2 0.1 0.2 00 0.1 0.5 00| 100.0
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& = 1=} = =] =] =] =} =] =] =} =] =] =} E-3 E n X il Al =~ ® il] Liri Z % a

B8 w5 | % | = |5 |=x|# |2 | & |28 |%x|a sl . o .

T 7| R | & | |w|a |8 5| ® | x| ®|® 2

B | om | & | & | @ | & |0 | B | w | ® | B8 | R ﬁ g | &=

Bt w | w | m | w | e | m | & | & | s | s | o | s | & | & | o | | | & | om | owo|me | om | wm | om | ow | os | s | A

5 B W 2,299 0 2 11 18 0 0 5 0 2 0 1 0 0 0 0 2 2 0 1 0 0 1 1 3 0| 2,348 546
97.9 0.0 0.1 0.5 0.8 0.0 0.0 0.2 0.0 0.1 0.0 0.1 0.0 0.0 0.0 0.0 0.1 0.1 0.0 0.1 0.0 0.0 0.1 0.1 0.1 00| 100.0

B % % & 21 17 0 0 2 0 0 0 0 0 0 0 1 0 0 0 19 0 0 0 0 0 0 0 0 0 60 16
35.0 28.3 0.0 0.0 33 0.0 0.0 00 0.0 0.0 0.0 0.0 1.7 0.0 0.0 0.0 31.7 0.0 0.0 0.0 00 0.0 00 0.0 0.0 00| 100.0

R 220 3 0 0 5 0 0 0 0 0 0 0 5 0 0 0 0 16 3 0 0 0 0 0 0 0 252 67
873 1.2 0.0 0.0 20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 6.3 1.2 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B = = 8 81 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 85 24
953 24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.2 1.2 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B % & 8 2 1 0 10 7 0 0 0 0 0 0 0 7 0 0 0 0 0 1 0 0 0 0 0 9 0 37 10
al 54 2.7 0.0 270 18.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 18.9 0.0 0.0 0.0 0.0 0.0 2.7 0.0 0.0 0.0 00 0.0 243 00| 100.0

B = 1B 13 0 0 13 17 0 0 0 0 0 0 0 0 0 1 0 7 1 0 0 0 0 0 0 0 0 52 [§
25.0 0.0 0.0 25.0 32.7 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 135 1.9 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B @ E 8 93 14 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 109 17
85.3 12.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B 2 ) A 87 8 0 0 0 0 0 1 0 6 0 0 0 0 0 0 0 0 3 0 1 0 0 0 0 0 106 35
82.1 75 0.0 0.0 0.0 0.0 0.0 0.9 0.0 5.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.8 0.0 0.9 0.0 00 0.0 0.0 00| 100.0

B & E 8 131 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 139 35
- 94.2 58 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B = WA 21 6 0 0 0 0 0 0 1 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 42 11
50.0 143 0.0 0.0 0.0 0.0 0.0 00 24 333 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0

B B & B 7 4 0 0 0 0 0 0 0 7 3 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 24 8
29.2 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 29.2 125 0.0 0.0 0.0 0.0 0.0 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 1000

B A = & 158 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 10 0 0 0 0 0 2 0 176 42
89.8 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 34 5.7 0.0 0.0 0.0 00 0.0 1.1 00| 100.0

B & R 20 0 0 1 1 0 0 0 1 0 0 0 33 0 0 0 0 3 5 0 0 0 0 0 1 0 65 13
‘ ’ 30.8 0.0 0.0 1.5 1.5 0.0 0.0 0.0 1.5 0.0 0.0 0.0 50.8 0.0 0.0 0.0 0.0 46 1.7 0.0 0.0 0.0 00 0.0 1.5 0.0 | 1000

£ ¥ & 56 17 0 0 0 0 0 18 1 3 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 96 20
58.3 17.7 0.0 0.0 0.0 0.0 0.0 18.8 1.0 31 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 00 0.0 0.0 00| 1000

E 8 & 26 7 0 0 0 0 0 13 2 5 0 0 0 0 7 0 0 0 0 0 0 0 0 0 0 0 60 17
433 11.7 0.0 0.0 0.0 0.0 0.0 21.7 3.3 8.3 0.0 0.0 0.0 0.0 11.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 | 1000

T 108 11 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 121 28
89.3 9.1 0.0 0.0 0.8 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0 00| 100.0

x F & 51 1 0 1 1 0 0 0 0 0 0 0 9 1 0 0 0 0 1 0 0 0 0 0 0 0 65 14
78.5 1.5 0.0 1.5 1.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 13.8 1.5 0.0 0.0 0.0 0.0 15 0.0 0.0 0.0 00 0.0 0.0 0.0 | 1000

2 o 3,394 99 2 36 52 0 0 37 [§ 39 3 1 55 1 8 0 31 29 24 2 1 0 1 1 15 0| 3,837 909
88.5 2.6 0.1 0.9 1.4 0.0 0.0 1.0 0.2 1.0 0.1 0.1 14 0.1 0.2 0.0 0.8 0.8 0.6 0.1 0.1 0.0 0.1 0.1 04 00| 100.0
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B8 w | % | = |5 |=x|# |2 | & |2|8|%x|a sl . o .
T 7|l R | & || w|a |8’ 5|8 | x| ®|w 2
B | om | & | & | @ | & |0 | B | w | ® | 8| R ﬁ g | &=
Bt w | w | w | w | e | m | & | & | s | s | o | s | & | & | om | | | & | m | omo|me | om | wm | om | ow | os | s | A
5 B W 2,239 0 1 2 2 0 0 2 1 1 1 3 0 0 0 0 0 0 16 10 4 1 2 1 12 0| 2,298 596
974 0.0 0.1 0.1 0.1 0.0 0.0 0.1 0.1 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.7 04 0.2 0.1 0.1 0.1 0.5 00| 100.0
B % % & 6 49 0 0 0 0 0 0 0 0 0 5 1 0 0 0 1 0 0 0 0 0 0 0 0 0 62 14
9.7 79.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.1 1.6 0.0 0.0 0.0 1.6 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0
R 75 80 0 0 0 0 0 0 1 0 0 2 2 0 0 0 0 1 86 0 0 0 0 0 0 0 247 72
30.4 324 0.0 0.0 0.0 0.0 0.0 0.0 04 0.0 0.0 0.8 0.8 0.0 0.0 0.0 0.0 04 348 0.0 0.0 0.0 00 0.0 0.0 00| 100.0
B = = 8 7 62 0 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0 17 0 0 0 0 0 0 0 88 21
8.0 70.5 0.0 1.1 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 1.1 0.0 0.0 0.0 19.3 0.0 0.0 0.0 00 0.0 0.0 00| 100.0
B % & 8 0 11 0 4 1 0 0 0 0 0 0 0 1 0 0 0 0 0 12 0 0 0 0 0 6 0 35 12
al 0.0 314 0.0 114 29 0.0 0.0 0.0 0.0 0.0 0.0 0.0 29 0.0 0.0 0.0 0.0 0.0 343 0.0 0.0 0.0 00 0.0 171 00| 100.0
B = f1 B 1 41 0 [§ 1 0 0 0 0 0 0 1 0 1 0 0 0 0 3 0 0 0 0 0 1 0 55 3
1.8 745 0.0 109 1.8 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 1.8 0.0 0.0 0.0 0.0 55 0.0 0.0 0.0 00 0.0 1.8 00| 100.0
B @ E 8 10 90 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 1 0 0 0 1 0 103 23
9.7 874 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 00 0.0 1.0 0.0 | 100.0
B 2 ) A 7 100 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 3 3 0 0 0 0 0 0 115 26
6.1 87.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.9 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 2.6 2.6 00 0.0 00 0.0 0.0 00| 100.0
B & E 8 22 115 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 138 36
- 159 83.3 0.0 0.0 0.0 0.0 0.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 100.0
B = L A 3 38 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 43 10
7.0 88.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 23 0.0 0.0 0.0 00 0.0 0.0 00| 100.0
B B & B 5 17 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 10
22.7 713 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 1000
B & = & 45 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 127 0 0 0 0 0 3 0 176 42
25.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 72.2 0.0 0.0 0.0 00 0.0 1.7 00| 1000
B & R #H 9 0 0 2 0 0 0 0 1 0 0 0 11 0 0 0 0 0 43 0 0 0 0 0 0 0 66 12
‘ ; 13.6 0.0 0.0 3.0 0.0 0.0 0.0 0.0 1.5 0.0 0.0 0.0 16.7 0.0 0.0 0.0 0.0 0.0 65.2 0.0 00 0.0 00 0.0 0.0 0.0 | 1000
= ¥ & 7 91 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 99 17
71 91.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 00| 1000
E 8 & 2 48 0 0 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 3 0 0 0 0 0 55 22
3.6 873 0.0 0.0 0.0 0.0 0.0 18 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 55 0.0 00 0.0 0.0 0.0 | 1000
T 11 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 115 34
9.6 90.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0 00| 1000
x E & 7 2 1 1 0 0 0 0 0 0 0 1 7 0 0 0 0 0 47 0 0 0 0 0 0 0 66 13
10.6 3.0 1.5 1.5 0.0 0.0 0.0 0.0 0.0 00 0.0 1.5 10.6 0.0 0.0 0.0 0.0 0.0 71.2 0.0 0.0 0.0 00 0.0 0.0 0.0 | 1000
2 5 2,456 848 2 16 4 0 0 4 3 3 1 15 22 1 2 0 1 2 355 13 8 1 2 1 23 0| 3,783 963
64.9 224 0.1 04 0.1 0.0 0.0 0.1 0.1 0.1 0.1 04 0.6 0.1 0.1 0.0 0.1 0.1 94 0.3 0.2 0.1 0.1 0.1 0.6 0.0 | 1000
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EMET 2|5 | &2 |s|x|8 |2 |mn 2 b " o0 )
# | w sle|m|wle|n|lr|s |||z A =m | &a|la |8 5| x| | 5
m|la |\ | &8 | & | B )| % |3 w | * 4 o
Bt # | w5 | 5 | B | & | s | er | s | & | e | m | & | B | & | & | # | & | & | & | & | & | # | % | & | & | w | @ | @ | & | ;| s | & | A
2,479 0 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 2 1 15 2 18 8 4 2| 2547 699
BoLom 97.3 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.6 0.1 0.7 0.3 0.2 0.1 100.0
AE @ 250 245 0 0 1 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 5 1 0 0 507 100
493 483 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.2 0.0 1.0 0.2 0.0 0.0 | 100.0
6 E & 2 25 19 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 48 11
42 52.1 39.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 21 0.0 | 100.0
s 2 21 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 11
| w 6.7 700 233 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
0 34 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 37 4
B & & 0.0 91.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
0 27 0 0 0 0 0 0 0 2 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 6
B X & 00 90.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.7 0.0 33 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00| 100.0
0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B 00| 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00| 100.0
8 % % a 1 27 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 6
33 90.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00| 100.0
| 3 24 149 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 2 0 176 43
136 847 0.0 0.0 0.0 0.0 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0.0 0.0 1.1 00| 100.0
16 39 32 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 1 0 90 17
g & 178 433 35.6 0.0 0.0 0.0 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 22 1.1 00| 100.0
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0 21 24 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 5 2 0 1 0 0 0 0 0 0 54 5
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B & 3l A 124 47 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 1 0 174 45
73 270 00 00 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0.0 0.6 0.0 06 00| 1000
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P 0 18 39 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 60 8
0.0 30.0 65.0 0.0 00 00 00 00 00 00 3.3 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 00| 1000
- 1 26 17 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 47 8
¥oEH 21 55.3 36.2 0.0 00 00 00 00 00 00 00 0.0 43 0.0 0.0 0.0 0.0 0.0 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
w0 m 2 13 6 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 25 0 2 0 0 1 3 2 0 57 9
35 22.8 105 0.0 00 00 00 00 00 00 00 00 53 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 439 0.0 35 0.0 0.0 1.8 53 35 00| 1000
0 13 30 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 2 3 1 1 0 0 0 0 1 0 53 6
" RE 00 245 56.6 0.0 00 0.0 00 00 00 00 00 00 3.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 38 57 19 19 0.0 0.0 0.0 0.0 1.9 00| 1000
_ 11 107 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 2 0 124 26
= ®m 8.9 86.3 0.0 0.0 00 00 00 00 00 24 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.0 16 00| 1000
. 9 73 3 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 87 14
woE W 103 83.9 34 0.0 00 00 00 00 00 1.1 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 00| 1000
N - 2,840 795 259 0 1 0 0 0 0 20 12 1 7 0 0 0 0 0 5 1 0 2 43 2 3 40 7 35 60 16 41 4153
a a
68.4 191 6.2 0.0 00 0.0 00 00 00 05 03 00 0.2 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 1.0 0.0 0.1 1.0 0.2 038 14 04 0.1] 1000
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5 R

0ce

2-5 RpIoyslE-co) TRIE% (EUBOMREE)
E | ® | & | B | B | 8| 8| B8] B8] B |&]|%]|&]| ]| *| = S h & & v |8 %W W |5 | % | #& | %] % |8
B 2 | & |2 | % |x|®|%|m» gl IO s o h
| w gl |m|m |8 |n |8 |& |85 |8 |= Al E | & | & |#y|® | K| | !
nmo| B | @ | 8 | & [ B | % |3 w | E " e | =&
Bt w | | o | o6 | s | & | & | & | & | & | @& | # [ ®& [ # | # | & o | oo | o | o | owo | ow | ow | & | ow B | # | ® | m | s | & | A
2,587 0 26 0 0 0 0 0 0 1 1 0 0 0 0 0 0 2 0 1 0 0 0 3 0 0 0 0 0 5 0] 2,626 620
Bow 98.5 00 1.0 0.0 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 02 00| 1000
T 436 56 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 497 110
87.7 13 0.0 0.0 00 00 00 00 00 00 06 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.4 0.0 00| 1000
R 3 6 37 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 49 10
B & & 6.1 122 75.5 0.0 0.0 0.0 00 00 00 00 6.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s 2 14 19 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 35 6
B 5.7 400 54.3 0.0 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
3 10 0 0 0 0 0 0 0 18 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 33 8
B R 9.1 30.3 0.0 0.0 00 00 00 00 00 54.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
1 5 0 0 0 0 0 0 0 25 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 5
B X 3.2 16.1 0.0 0.0 0.0 00 00 00 00 80.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
2 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B 66.7 0.0 0.0 0.0 00 00 00 00 00 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
8 % % a 8 0 0 0 0 0 0 0 0 22 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 31 5
25.8 0.0 0.0 0.0 00 00 00 00 00 71.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.2 00| 1000
B & 3l A 160 16 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 178 41
89.9 9.0 0.0 0.0 00 00 00 00 00 00 00 06 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 06 00| 1000
29 5 49 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 85 22
g 8 W 34.1 5.9 57.6 0.0 00 00 00 00 00 00 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12 12| 100.0
N 2 2 26 0 0 0 0 0 0 0 8 0 1 0 0 0 0 0 0 0 0 0 3 0 0 0 0 1 0 0 0 43 8
x ®H 417 417 60.5 0.0 00 00 00 00 00 00 18.6 00 23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 70 0.0 0.0 0.0 0.0 23 0.0 0.0 00| 1000
5 N & 22 12 73 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 6 0 1 0 0 0 0 4 0 119 24
185 10.1 61.3 0.0 00 00 00 00 00 00 08 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50 0.0 0.8 0.0 0.0 0.0 0.0 34 00| 1000
o # 0 7 53 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 61 7
00 115 86.9 0.0 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16 00| 1000
- 3 14 27 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 0 48 7
¥oEH 6.3 29.2 56.3 0.0 00 0.0 00 00 00 00 00 00 42 0.0 0.0 0.0 0.0 0.0 2.1 0.0 0.0 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s o m 1 1 8 0 0 0 0 0 0 0 1 0 2 0 0 0 0 0 0 0 0 0 14 0 26 0 0 0 0 1 0 54 12
1.9 1.9 148 0.0 00 00 00 00 00 00 1.9 00 3.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 259 0.0 481 0.0 0.0 0.0 0.0 1.9 00| 1000
3 4 35 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 3 1 0 1 0 0 0 0 2 0 52 7
" Rom 58 1.1 67.3 0.0 00 00 00 00 00 00 00 0.0 5.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 58 19 0.0 19 0.0 0.0 0.0 0.0 3.8 00| 1000
_ 35 70 0 0 0 0 0 0 0 13 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 120 30
= ®m 29.2 58.3 0.0 00 00 00 00 00 00 108 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 038 0.0 08 00| 1000
. 12 41 2 0 0 0 0 0 0 23 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 79 22
noE 15.2 51.9 25 0.0 00 00 00 00 00 29.1 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 13 00| 1000
N - 3,309 263 355 0 0 0 0 0 0 103 17 1 8 0 0 0 0 2 3 1 0 4 24 3 28 0 0 2 2 18 1 4144
a a
79.9 6.3 8.6 0.0 00 00 00 00 00 25 04 00 0.2 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.1 0.6 0.1 0.7 0.0 0.0 0.0 0.0 04 00| 1000
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26 RepIOvs(RERE] TRIE% (EUBOBMREE)
E | ® | & | B | B | B | 8| B8] B8] 8 |&]|%]|&]| x| *| = S A ® & v |8 %W W |5 | % & | %] % | &
B 2 | & |2 | % |x|®|%|m» 21 p s o i
£ | w gl |m|m |8 |n |8 |& |85 |8 |= Al E | & | & |#y|® | K| | !
nmo| B | o® | 8 | & [ B | % |3 w | E " e | &
Bt w | | o | o6 | s | & | & | # | & | & | & | # | & [ # | # | & o | oo | o | o | owo | o | ow | & | ow | B | # [ ® | mo| s | & | A
2,566 0 17 0 0 0 0 0 0 0 1 0 0 0 0 0 0 1 0 2 0 0 0 1 0 4 0 1 0 3 0] 2596 650
Bow® 98.8 00 0.7 0.0 00 00 00 00 00 00 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.1 0.0 0.0 0.0 0.1 0.0 0.2 0.0 0.1 0.0 0.1 00| 1000
T 385 109 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 496 111
77.6 220 0.0 0.0 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 04 00| 1000
R 3 1 33 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 48 1
B & & 6.3 22.9 68.8 0.0 0.0 0.0 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.1 00| 1000
s 1 13 18 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 33 8
B 30 39.4 545 3.0 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
2 22 0 0 0 0 0 0 0 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 34 7
B & R 5.9 64.7 0.0 0.0 00 00 00 00 00 29.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
1 16 0 0 0 0 0 0 0 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 5
B X 3.2 51.6 0.0 0.0 0.0 00 00 00 00 452 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
2 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B 66.7 0.0 0.0 0.0 00 00 00 00 00 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
8 % E a 3 1 0 0 0 0 0 0 0 15 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 29 7
103 37.9 0.0 0.0 0.0 00 00 00 00 51.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
| & 3l A 122 53 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 176 43
69.3 30.1 00 00 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 06 00| 1000
13 12 67 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 93 14
g 8 W 140 129 720 0.0 00 00 00 00 00 00 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 00| 1000
N 2 12 28 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 44 7
x ®H 45 273 63.6 0.0 00 00 00 00 00 00 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 45 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
5 N & 14 16 78 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 2 0 0 0 0 2 0 121 22
116 132 64.5 08 00 00 00 00 00 00 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.6 0.0 1.7 0.0 0.0 0.0 0.0 1.7 00| 1000
P 0 12 48 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 61 7
0.0 19.7 78.7 0.0 00 00 00 00 00 00 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16 00| 1000
- 2 20 24 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 48 7
¥oEH 42 417 50.0 0.0 00 00 00 00 00 00 00 00 42 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s o m 2 12 4 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 19 0 16 0 0 0 0 2 0 56 10
3.6 214 7.1 0.0 00 00 00 00 00 00 00 00 18 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33.9 0.0 286 0.0 0.0 0.0 0.0 3.6 00| 1000
0 10 31 0 0 0 0 0 0 0 0 0 5 0 0 0 0 0 0 0 0 5 0 0 1 0 0 0 0 2 0 54 5
" Rm 00 185 574 0.0 00 00 00 00 00 00 00 00 9.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.3 0.0 0.0 19 0.0 0.0 0.0 0.0 3.7 00| 1000
_ 5 103 0 0 0 0 0 0 0 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 125 25
= ®m 40 824 0.0 0.0 00 00 00 00 00 128 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 038 00| 1000
. 5 59 3 0 0 0 0 0 0 14 0 1 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 1 0 84 17
woE 6.0 70.2 3.6 0.0 00 00 00 00 00 16.7 00 12 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12 00| 1000
N - 3,128 491 351 2 0 0 0 0 0 70 1 1 8 0 0 0 0 1 0 2 0 6 29 1 19 4 0 1 0 17 0| 4132
a a
75.7 119 85 0.1 00 00 00 00 00 1.7 0.1 0.1 0.2 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.1 0.7 0.1 0.5 0.1 0.0 0.1 0.0 04 00| 1000
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27 RepIovslERE] TRIE% (EWBOMREE)
E | ® | & | B | B | 8| 8| B8] B8] 8 ]|®&]|%]|&]| ]| *| = S h &8 & v |8 %W W |5 | % | #& | %] % |8
B 2 | & |2 | % |x|®|%|m» ) 21 b s o i
| w gl |m|m |8 |n |8 |& |85 |8 |= Al E | & | & |#y|® | K| | !
nmo| B | @ | 8 | B [ B | % |3 w | E " e | &
Bt w | | o | o6 | s | & | e | & | & | & | & | & [ & [ # | # | & O O O O O O I S S O S - P N
2,608 0 17 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 6 0 1 0 0 2 3 0] 2,639 607
Bow 98.8 00 0.6 0.0 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.1 0.0 0.0 0.1 0.1 00| 1000
S 458 41 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 502 105
91.2 8.2 0.0 0.0 00 00 00 00 00 00 06 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
R 6 2 34 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 46 13
B & & 130 43 73.9 0.0 00 00 00 00 00 00 8.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s 2 12 18 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 34 7
B 5.9 353 52.9 5.9 0.0 0.0 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
3 5 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 23 0 0 0 0 0 0 0 0 0 0 0 0 34 7
B R 8.8 147 0.0 0.0 00 00 00 00 00 8.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 67.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 1000
2 0 0 0 0 0 0 0 0 27 0 0 0 0 0 0 0 0 2 0 0 0 1 0 0 0 0 0 0 0 0 32 4
B X 6.3 0.0 0.0 0.0 00 00 00 00 00 84.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.3 0.0 0.0 0.0 3.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 1000
1 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B 33.3 33.3 0.0 0.0 0.0 0.0 00 00 00 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
8 % % a 10 0 0 0 0 0 0 0 0 20 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 31 5
323 0.0 0.0 0.0 00 0.0 00 00 00 64.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.2 00| 1000
| W 3l A 1 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 180 39
95.0 3.9 00 00 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 00| 1000
55 2 28 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 2 0 88 19
g 8 W 62.5 23 31.8 0.0 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 0.0 0.0 0.0 0.0 0.0 0.0 23 00| 1000
N 5 2 16 1 0 0 0 0 0 0 15 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 1 0 42 9
x ®H 119 48 38.1 24 00 00 00 00 00 00 35.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 48 0.0 0.0 0.0 0.0 0.0 0.0 24 00| 1000
5 N & 99 4 10 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0 0 3 0 119 24
83.2 34 8.4 0.0 00 0.0 00 00 00 00 08 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.0 0.8 0.0 0.0 0.0 0.0 25 00| 1000
P 20 1 29 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 52 16
38.5 1.9 55.8 00 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.8 00| 1000
- 15 3 13 0 0 0 0 0 0 0 0 0 9 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 44 1
¥oEH 34.1 6.8 295 0.0 00 00 00 00 00 00 0.0 00 20.5 0.0 0.0 0.0 0.0 0.0 9.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
w0 m 24 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 6 0 17 0 0 0 0 1 0 56 10
429 00 0.0 0.0 00 00 00 00 00 00 00 00 143 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.7 0.0 30.4 0.0 0.0 0.0 0.0 18 00| 1000
12 1 4 0 0 0 0 0 0 0 0 0 34 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 54 5
" Rm 222 1.9 74 0.0 00 00 00 00 00 00 00 0.0 63.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 56 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
_ 48 55 0 0 0 0 0 0 0 17 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 121 29
= ®m 39.7 455 0.0 0.0 00 00 00 00 00 140 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 08 00| 1000
- 69 9 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 79 22
»oE 87.3 114 0.0 0.0 00 00 00 00 00 13 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
N - 3,608 145 169 3 0 0 0 0 0 69 23 0 51 0 0 0 0 2 29 0 0 3 1 6 18 1 0 0 2 16 0| 4156
a a
86.8 35 4.1 0.1 0.0 00 00 00 00 1.7 06 0.0 12 0.0 0.0 0.0 0.0 0.1 0.7 0.0 0.0 0.1 0.3 0.1 0.4 0.1 0.0 0.0 0.1 04 00| 1000
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E | ® | & | B | B | 8| 8| B8] B8] 8 |&]|%]|&]| ]| *| = S h | ® & v |8 %W W |5 | % & | %] % |8
B 2 | & |2 | % |x|®|%|m» gl IO s o h
| w gl |m|m |8 |n |8 |& |85 |8 |= Al E | & | & |#y|® | K| | !
nmo| B | @ | 8 | & [ B | % |3 w | E " e | =&
Bt w | | o | o6 | s | & | & | & | & | & | @& | # [ ®& [ # | # | & o | oo | o | o | owo | ow | owo | & | w B | # | ® | mo| s | & | A
2,597 0 17 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 1 0 1 0 4 0 2 0 3 0 4 0| 2,631 615
Bow® 98.7 0.0 0.6 0.0 00 00 00 00 00 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.0 0.1 0.0 0.2 0.0 0.1 0.0 0.1 0.0 02 00| 1000
T 435 60 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 496 111
87.7 121 0.0 0.0 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 00| 1000
. 6 5 36 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 49 10
B & & 122 10.2 73.5 0.0 0.0 0.0 00 00 00 00 4.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s 1 12 20 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 34 7
B 29 353 58.8 29 0.0 0.0 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
3 7 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 23 0 0 0 0 0 0 0 0 0 0 0 0 35 6
B & R 8.6 20.0 0.0 0.0 00 00 00 00 00 5.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 65.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 1000
1 5 0 0 0 0 0 0 0 22 0 0 0 0 0 0 0 0 2 0 0 0 1 0 0 0 0 0 0 0 0 31 5
B X 3.2 16.1 0.0 0.0 00 00 00 00 00 71.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.5 0.0 0.0 0.0 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
1 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B A 33.3 33.3 0.0 0.0 00 0.0 00 00 00 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
8 % % a 7 0 0 0 0 0 0 0 0 22 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 30 6
23.3 0.0 0.0 0.0 0.0 0.0 00 00 00 73.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33 00| 1000
B i 3l A 164 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1 0 182 37
90.1 8.8 00 0.0 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 05 00| 1000
31 3 51 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 2 0 89 18
g 8 W 348 34 57.3 0.0 00 00 00 00 00 00 00 0.0 11 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 0.0 22 00| 1000
. 3 3 24 0 0 0 0 0 0 0 10 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 1 0 1 0 44 7
x & H 6.8 6.8 545 0.0 00 00 00 00 00 00 22.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 45 0.0 0.0 0.0 0.0 23 0.0 23 00| 1000
5 N & 100 4 7 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 1 0 2 0 0 0 0 3 0 119 24
840 34 59 0.0 0.0 00 00 00 00 00 08 00 0.0 08 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.8 0.0 1.7 0.0 0.0 0.0 0.0 25 00| 1000
T 18 3 30 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 53 15
340 5.7 56.6 0.0 00 00 00 00 00 00 00 00 19 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 00| 1000
- 4 8 13 0 0 0 0 0 0 0 0 0 10 0 0 0 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 44 1
¥oEH 9.1 18.2 295 0.0 00 00 00 00 00 00 00 00 22.7 0.0 0.0 0.0 0.0 0.0 20.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s N m 5 4 1 0 0 0 0 0 0 0 0 0 15 0 0 0 0 0 0 0 0 0 7 0 25 0 0 0 0 1 0 58 8
8.6 6.9 1.7 0.0 00 00 00 00 00 00 00 0.0 259 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 121 0.0 431 0.0 0.0 0.0 0.0 1.7 00| 1000
5 1 9 0 0 0 0 0 0 0 0 0 34 0 0 0 0 0 0 0 0 2 0 0 1 0 0 0 0 0 0 52 7
" Rm 9.6 1.9 173 0.0 00 00 00 00 00 00 00 0.0 65.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.8 0.0 0.0 19 0.0 0.0 0.0 0.0 0.0 00| 1000
_ 22 75 0 0 0 0 0 0 0 23 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 121 29
= ®m 18.2 62.0 0.0 0.0 00 00 00 00 00 19.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 08 00| 1000
- 68 8 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 78 23
noE 87.2 103 0.0 0.0 00 00 00 00 00 13 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 13 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
N - 3,471 215 208 1 0 0 0 0 0 72 13 0 61 1 0 0 0 1 35 1 0 4 1 4 28 2 0 6 0 15 0| 4149
a a
83.7 52 50 0.1 00 00 00 00 00 1.7 03 0.0 15 0.1 0.0 0.0 0.0 0.1 0.8 0.1 0.0 0.1 0.3 0.1 0.7 0.1 0.0 0.1 0.0 04 00| 1000
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E | ® | & | B | B | 8| 8| B ]88 |&]|%]|&]| =] *| = S A ® & v |8 %W W |5 | % & %] % | &
B 2 | & |2 | % |x|®|%|m» 21 p e o i
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Bt w | | o | o6 | s | & | & | & | & | & | @& | # | & [ # | # | & o | oo | o | ow | owo | ow | ow | & | w | B | # | ® | m | s | & | A
2,607 0 18 0 0 0 0 0 0 0 1 0 0 0 0 0 0 3 0 0 0 0 1 4 0 0 0 0 0 8 2| 2644 602
Bow® 98.6 00 0.7 0.0 00 00 00 00 00 00 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.1 0.2 0.0 0.0 0.0 0.0 0.0 03 0.1] 1000
T 460 33 0 0 0 0 0 0 0 0 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 498 109
924 6.6 0.0 0.0 00 00 00 00 00 00 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
. 12 2 26 0 0 0 0 0 0 0 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 45 14
B & & 26.7 44 57.8 0.0 00 00 00 00 00 00 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s 2 9 21 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 33 8
B 6.1 273 63.6 3.0 0.0 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
5 4 0 0 0 0 0 0 0 6 0 0 0 0 0 0 0 0 17 0 0 0 0 1 0 0 0 0 0 0 0 33 8
B R 15.2 121 0.0 0.0 00 00 00 00 00 18.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 51.5 0.0 0.0 0.0 0.0 3.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
4 1 0 0 0 0 0 0 0 24 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 32 4
B X 125 3.1 0.0 0.0 0.0 0.0 00 00 00 75.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 1000
2 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B 66.7 0.0 0.0 0.0 00 00 00 00 00 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
8% % a 1 1 0 0 0 0 0 0 0 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 27 9
40.7 3.7 0.0 0.0 00 0.0 00 00 00 51.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.7 0.0 | 1000
| & 3l A 175 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 185 34
94.6 54 0.0 0.0 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
63 2 17 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 3 0 86 21
g 8 W 73.3 23 198 0.0 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12 0.0 0.0 0.0 0.0 0.0 0.0 35 00| 1000
N 5 2 19 0 0 0 0 0 0 0 12 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 2 0 42 9
x & H 1.9 48 452 0.0 00 00 00 00 00 00 28.6 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 48 0.0 0.0 0.0 0.0 0.0 0.0 48 00| 1000
5 N & 99 2 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 5 0 117 26
84.6 1.7 85 0.0 00 00 00 00 00 00 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 43 00| 1000
T 21 1 24 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 49 19
429 20 490 0.0 00 00 00 00 00 00 00 0.0 20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.1 00| 1000
- 21 3 1 0 0 0 0 0 0 0 0 0 7 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 44 1
¥R H 411 6.8 250 0.0 0.0 00 00 00 00 00 00 00 15.9 0.0 0.0 0.0 0.0 0.0 45 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
s o m 28 1 0 0 0 0 0 0 0 0 0 0 7 0 0 0 0 0 0 0 0 0 4 0 12 0 0 0 0 2 0 54 12
51.9 1.9 0.0 0.0 00 00 00 00 00 00 00 00 13.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 74 0.0 222 0.0 0.0 0.0 0.0 3.7 00| 1000
16 1 5 0 0 0 0 0 0 0 0 0 21 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 1 0 48 1
" Rm 33.3 21 104 0.0 00 00 00 00 00 00 00 00 43.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 21 00| 1000
_ 78 39 0 0 0 0 0 0 0 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 124 26
= ®m 62.9 315 0.0 0.0 00 00 00 00 00 5.6 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
- 68 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 73 28
noE 93.2 6.8 0.0 0.0 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
N - 3,677 116 151 1 0 0 0 0 0 52 23 0 36 0 0 0 0 3 22 0 0 4 9 5 12 0 0 0 0 24 2| 4137
a a
88.9 2.8 3.6 0.1 00 00 00 00 00 13 06 00 0.9 0.0 0.0 0.0 0.0 0.1 0.5 0.0 0.0 0.1 0.2 0.1 0.3 0.0 0.0 0.0 0.0 06 0.1] 1000
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Bttt # | W | W Br | B | & | mr | ey | @ | ® | B | ® | & | B B | ® | & o | @ | @ | B | @ 5 mo| s | g A
P 2,556 0 14 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 1 0 2 0 3 0 6 2| 2590 656
98.7 0.0 05 0.0 0.0 0.0 0.0 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.1 0.0 0.1 0.0 0.2 0.1 [ 100.0
T 284 194 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 480 127
H R
59.2 404 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.2 00| 100.0
. 3 16 31 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 51 8
B & B B
59 314 60.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20 00| 100.0
- 1 19 13 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 33 8
B & # &
3.0 576 394 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
8 i 1 25 0 0 0 0 0 4 0 1 0 0 0 0 0 0 2 0 0 0 0 0 0 0 1 0 34 7
L3
! 29 735 0.0 0.0 0.0 0.0 0.0 11.8 0.0 29 0.0 0.0 0.0 0.0 0.0 0.0 59 0.0 0.0 0.0 0.0 0.0 0.0 0.0 29 00| 100.0
1 23 0 0 0 0 0 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 5
B X # B
3.2 742 0.0 0.0 0.0 0.0 0.0 226 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
1 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0
B # % A
333 333 0.0 0.0 0.0 0.0 0.0 333 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 | 100.0
3 14 0 0 0 0 0 12 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 6
B % % B
10.0 46.7 0.0 0.0 0.0 0.0 0.0 40.0 0.0 3.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 | 100.0
B & 3l A 68 107 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 0 180 39
(=]
378 59.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 28 0.0 | 100.0
@ B 7 26 51 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0 86 21
8.1 30.2 593 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.2 0.0 0.0 0.0 0.0 1.2 0.0 | 100.0
x % # 3 10 27 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 42 9
71 238 64.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 48 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
5 N & 14 15 66 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12 0 0 0 0 2 0 109 34
12.8 13.8 60.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11.0 0.0 0.0 0.0 0.0 1.8 0.0 | 100.0
P 2 11 44 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 58 10
3.4 19.0 75.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 | 100.0
2 om #H 6 18 17 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 42 13
143 429 405 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 24 0.0 | 100.0
£ m 5 7 8 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 29 0 3 0 0 0 0 53 13
‘ 9.4 13.2 15.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 54.7 0.0 5.7 0.0 0.0 0.0 0.0 | 100.0
1 7 31 0 0 0 0 0 0 1 5 0 0 0 0 0 0 0 6 0 0 0 0 0 1 0 52 7
H OB
1.9 135 59.6 0.0 0.0 0.0 0.0 0.0 0.0 1.9 9.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 115 0.0 0.0 0.0 0.0 0.0 1.9 0.0 | 100.0
= 5 m 7 110 0 0 0 1 0 5 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 125 25
- 5.6 88.0 0.0 0.0 0.0 08 0.0 4.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 08 0.0 | 100.0
| 5 12 62 2 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 1 0 81 20
N 54
14.8 76.5 25 0.0 0.0 0.0 0.0 3.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.2 0.0 0.0 0.0 0.0 0.0 1.2 0.0 | 100.0
N - 2,975 665 304 0 0 1 0 33 1 4 6 0 0 0 0 0 2 0 8 44 2 3 3 1 22 2| 4,080
- ; 729 16.3 15 0.0 0.0 0.1 0.0 08 0.1 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.2 1.1 0.1 0.1 0.1 0.1 05 0.1 [ 100.0
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. 299 0 1 1] 0 24 3 0 0 1] 0 0 0 53 0 0 0 0 0 0 0 0 18 0 0 0 6 3 1 408 104

BoA 733 0.0 0.2 0.0 0.0 59 0.7 0.0 0.0 0.0 0.0 0.0 0.0 13.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 44 0.0 0.0 0.0 1.5 0.7 02| 100.0
- 8 37 0 0 0 1 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 54 [

148 68.5 0.0 0.0 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
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BT 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
B i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ol ; 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5w m 2 45 3 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 3 0 0 0 0 0 55 8
3.6 81.8 55 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 55 0.0 0.0 0.0 0.0 00| 100.0
. 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 6 3
; 83.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
~ = 622 61 30 1 0 0 0 0 0 0 0 0 1 0 0 2 0 9 2 0 15 15 0 0 0 8 0 766 214
= : 81.2 8.0 3.9 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.3 0.0 1.2 0.3 0.0 2.0 2.0 0.0 0.0 0.0 1.0 00| 100.0
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5-9 ERTOvIIENE] FE% (RMEORRE)
B | ® | B | B |8 | & | & & 0| x| %] & |8 &% | & |® | B F v~ | m &g | % %] x| z]z]|2a]*
ST Bl B | oa ¥ " e ]
g | B 5 |2 |®@ | m | & |2 |32| 2| ||| w|e| wl&|&|8° 5|x|s|w|w &
Mo B | & Ey . R | ®
B w | wm | w | om | e | e | e | e | & | B | B | B | & | m | # | w | owm | K |wme | & | wm |®C | @ | & | & | m | s | & | A
p E w 407 0 1 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 413 100
98.5 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 05 05 0.0 0.0 0.0 0.0 0.0 | 100.0
B E B 174 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 1 0 0 0 0 0 177 37
- 98.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 0.6 0.0 0.0 0.0 0.0 00| 100.0
B E B 59 16 21 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 97 47
60.8 16.5 21.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
BB R 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
5 % A 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 2 0 0 0 0 0 0 0 0 11 1
9.1 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00 72.7 18.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
o= 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 3
x & 100.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
= @m 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 2 0
50.0 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 | 100.0
n N A 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 6 0 8 4
12.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 75.0 0.0 | 100.0
x # 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 0.0 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
o 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0
noxEm 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
BT A 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
B i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ol ; 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5w m 10 42 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 55 8
18.2 76.4 3.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 00| 100.0
PR 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 6 3
; 83.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
~ = 666 58 24 0 0 0 0 0 0 0 0 1 0 0 0 1 0 9 2 0 5 4 0 0 0 7 0 777 203
= : 85.7 75 3.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.1 0.0 1.2 0.3 0.0 0.6 0.5 0.0 0.0 0.0 0.9 00| 100.0
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TBIE% (GO EIA)

B | @& | B | B |8 | & | B & 0] x| %] & |8 &% | & |® | B % o0 mw g | % %] x| z]z]|2a]*
ST Bl B | oa ¥ " e ]
g | B 5 |2 |®@ | m | & |2 |x2| 2|2 |&|8|w|e| xwleg|s|89 5x|x|8|w|w &
Mo & | & Ey . R | ®
B w | wm | w | o | e | | e | B | & | B | e | B | & | B | # | w | owm | R |wme | & | wm |®C | @ | & | & | @ | s | & | A
p E w 280 0 2 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 2 0 44 48 0 0 0 0 1 379 134
739 0.0 0.5 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.3 0.0 0.0 0.0 0.0 00 0.0 05 0.0 11.6 12.7 0.0 0.0 0.0 0.0 0.3 | 100.0
B E B 124 8 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 25 14 0 0 0 0 0 173 41
71.7 46 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 0.6 0.0 0.0 0.0 145 8.1 0.0 0.0 0.0 0.0 0.0 | 100.0
B E B 13 49 36 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 13 0 0 0 0 0 116 28
11.2 422 31.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 43 11.2 0.0 0.0 0.0 0.0 0.0 | 100.0
BB A 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
E % E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 1 0 0 0 0 0 0 0 0 11 1
s 4 0.0 0.0 0.0 00 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00 90.9 9.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
o= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4
x & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= @ 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 2 0
50.0 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 50.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
n N A 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 0 3 0 8 4
125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 250 250 0.0 0.0 0.0 0.0 0.0 0.0 0.0 375 0.0 | 100.0
x # 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0
100.0 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
o 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 2 0
noxEm 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
BT A 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
B i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ol ; 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5w m 4 33 2 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 3 13 0 0 0 0 0 56 7
71 58.9 3.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 54 23.2 0.0 0.0 0.0 0.0 00| 100.0
PR 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 6 3
; 66.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
& =t 432 90 40 1 0 0 0 0 0 0 0 1 0 0 0 4 4 13 3 0 77 88 0 0 0 3 1 757 223
571 11.9 5.3 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.5 0.5 1.7 0.4 0.0 10.2 11.6 0.0 0.0 0.0 04 0.1 | 100.0
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BT FEE (N

6-1 LWbETOvI(EEZ—Y] FEE% (SO )
E | = | ®m | & |+ | 2 | @ [R&x| &~ |0 | = | & | & | @8 | &~ | 6| @ |5~ %] % | % | =] z | & | %
Al
EMiST m | = | B | x| & |* | w | om | m | s | A . I o | 0 )
g | P EA wls |5 | & |8l 8 | x| x| & | ol
| |y || s | | % | | m | m | o | % s | =
Bt # | X | K | K| K| K| K |E-| B | E | E | E | & | x| & |8 | & | & |8 |8 | s | 8 | ;& | 5 |3 A
T oM R 782 0 0 1 12 0 0 0 0 0 2 0 0 0 15 0 0 8 1 37 31 1 4 1 895 259
87.4 0.0 0.0 0.1 1.3 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 1.7 0.0 0.0 09 0.1 4.1 3.5 0.1 04 0.1 100.0
33 137 0 3 5 0 0 0 0 0 0 0 0 0 3 0 0 1 0 1 8 1 0 0 192 44
o R
17.2 714 0.0 1.6 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 0.0 0.0 05 0.0 05 42 0.5 0.0 00| 100.0
8o R 143 118 1 0 25 0 0 0 0 0 1 0 0 0 7 0 0 0 0 8 8 0 1 0 312 89
458 378 0.3 0.0 8.0 0.0 0.0 0.0 0.0 0.0 03 0.0 0.0 0.0 2.2 0.0 0.0 0.0 0.0 26 26 0.0 0.3 00| 100.0
470 128 0 3 0 0 0 0 0 0 1 0 0 0 7 0 0 2 0 25 14 1 0 0 651 173
INE G R
72.2 19.7 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 11 0.0 0.0 0.3 0.0 3.8 2.2 0.2 0.0 00| 1000
" 192 3 5 124 0 0 0 0 0 2 0 0 0 4 0 0 1 0 45 8 2 1 0 458 110
VE BN
155 419 0.7 1.1 27.1 0.0 0.0 0.0 0.0 0.0 04 0.0 0.0 0.0 0.9 0.0 0.0 0.2 0.0 9.8 1.7 04 0.2 00| 1000
5 100 0 0 1 0 0 0 0 0 2 0 0 0 0 0 0 0 0 2 0 0 0 0 110 23
B i X
45 90.9 0.0 0.0 09 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 00| 100.0
KA A2 E 0 28 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 30 8
Hh =3 0.0 93.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.3 0.0 0.0 0.0 0.0 3.3 0.0 0.0 0.0 00| 100.0
6 44 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 1 0 1 0 53 14
NI R
113 83.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 1.9 00| 100.0
N oE R 0 4 0 0 0 1 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 7 2
[
0.0 57.1 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 28.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
=R 6 28 0 0 0 0 0 0 0 0 0 0 0 0 4 1 0 1 0 2 1 0 0 0 43 14
- 14.0 65.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.3 2.3 0.0 2.3 0.0 47 2.3 0.0 0.0 00| 100.0
18 97 0 1 1 0 0 0 0 1 1 0 0 0 2 0 0 2 0 1 2 0 1 0 127 50
7R X
14.2 76.4 0.0 0.8 08 0.0 0.0 0.0 0.0 0.8 0.8 0.0 0.0 0.0 1.6 0.0 0.0 1.6 0.0 08 1.6 0.0 0.8 00| 100.0
2 20 0 3 6 1 0 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 34 11
E H X
59 58.8 0.0 8.8 176 2.9 0.0 0.0 0.0 0.0 29 0.0 0.0 0.0 29 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
0 6 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 11 0
H A # X
0.0 545 0.0 0.0 273 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 18.2 0.0 0.0 0.0 00| 100.0
~ = 1,536 902 4 16 177 2 0 0 0 1 11 0 0 0 46 1 0 15 1 124 73 5 8 1] 2923 797
= : 525 30.9 0.1 0.5 6.1 0.1 0.0 0.0 0.0 0.0 04 0.0 0.0 0.0 1.6 0.0 0.0 0.5 0.0 4.2 25 0.2 0.3 00| 1000
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B | T | m | & | 4| 2 @ [Rx] &~ |0 | = & | & | @8 | B |+~ |6 |0 |2~ % &8 | %] =]z & %
Al
EMiST m | = | B | x| & |* e | om | m | s | A | I N oo o )
g | P EA w | s |5 | & |80 | % | x| K| & ]| Fl
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Bttt w | ¥ | B | K| g | KR | B |R-| K| K| K || | & | & |8 | & | & | &8 |8 [# |8 | w|s»sn|[&|+2
T oM R 785 0 0 2 20 0 1 0 0 0 2 0 0 0 14 0 0 5 2 50 26 3 2 1 913 241
86.0 0.0 0.0 0.2 2.2 0.0 0.1 0.0 0.0 0.0 0.2 0.0 0.0 0.0 15 0.0 0.0 0.5 0.2 55 2.8 0.3 0.2 0.1 100.0
45 114 0 7 4 1 0 0 0 0 0 0 0 0 5 0 0 2 0 8 7 0 0 0 193 43
S
23.3 591 0.0 3.6 2.1 05 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.6 0.0 0.0 1.0 0.0 4.1 3.6 0.0 0.0 00| 100.0
8o R 149 99 2 0 33 0 0 0 0 0 1 0 0 0 5 0 0 0 0 25 8 0 0 0 322 79
46.3 30.7 0.6 0.0 10.2 0.0 0.0 0.0 0.0 0.0 03 0.0 0.0 0.0 1.6 0.0 0.0 0.0 0.0 7.8 25 0.0 0.0 00| 100.0
483 107 0 5 0 1 0 0 0 0 2 0 0 0 6 0 0 4 0 34 17 2 0 0 661 163
INE G R
73.1 16.2 0.0 0.8 0.0 0.2 0.0 0.0 0.0 0.0 0.3 0.0 0.0 0.0 0.9 0.0 0.0 0.6 0.0 5.1 2.6 03 0.0 00| 1000
181 131 0 5 51 0 1 0 0 0 2 0 0 0 1 0 0 0 0 60 9 2 0 0 443 125
VE BN
40.9 29.6 0.0 1.1 115 0.0 0.2 0.0 0.0 0.0 0.5 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 135 2.0 0.5 0.0 00| 1000
4 100 0 0 2 0 0 0 0 0 2 0 0 0 1 0 0 0 0 3 0 0 0 0 112 21
g K
3.6 89.3 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 09 0.0 0.0 0.0 0.0 2.7 0.0 0.0 0.0 00| 100.0
KR -RZE 1 28 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 2 0 0 0 o| a2 6
Hh =3 3.1 875 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.1 0.0 0.0 0.0 0.0 6.3 0.0 0.0 0.0 00| 100.0
5 42 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 1 0 1 0 51 16
NI R
938 824 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 0.0 2.0 00| 100.0
N OE X 0 4 0 0 0 1 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 7 2
[
0.0 57.1 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 28.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
6 24 1 0 0 0 0 0 0 0 0 1 0 0 2 4 0 1 0 3 1 0 2 0 45 12
—H KR
13.3 53.3 2.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.2 0.0 0.0 4.4 8.9 0.0 2.2 0.0 6.7 2.2 0.0 4.4 00| 100.0
34 68 0 2 2 0 0 0 0 1 0 0 0 0 1 0 0 2 0 5 2 1 0 0 118 59
7R R
28.8 57.6 0.0 1.7 1.7 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.8 0.0 0.0 1.7 0.0 42 1.7 0.8 0.0 00| 100.0
5 12 0 7 7 4 0 0 0 0 1 0 0 0 0 0 0 0 0 2 0 0 0 0 38 7
B H K
13.2 31.6 0.0 18.4 18.4 10.5 0.0 0.0 0.0 0.0 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 53 0.0 0.0 0.0 00| 100.0
0 1 0 1 1 5 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 10 1
B AR
0.0 10.0 0.0 10.0 10.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.0 0.0 0.0 0.0 00| 100.0
~ = 1,698 730 3 29 120 12 2 0 0 1 11 1 0 0 38 4 0 14 2 195 1 8 5 1] 2945 775
= ; 57.7 248 0.1 1.0 41 04 0.1 0.0 0.0 0.0 04 0.0 0.0 0.0 1.3 0.1 0.0 0.5 0.1 6.6 2.4 0.3 0.2 00| 1000
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Al
EMiST | = | B | x| & |* | w | om | @ | s | A . I B o | 0 )
g | P EA w | s |5 | & |85 | % | x| K| & ]| ol
| |y || | | | | m | m | m | % s | m
Bt # | X | K | K| K| K| K |E-| K | E | E | E | ® | x| & |8 | & | & |8 |8 | ® | &8 | ;| 5 |3 A
T oM R 883 0 0 2 15 0 1 0 0 0 2 0 0 0 4 0 0 3 0 10 9 0 0 0 929 225
95.0 0.0 0.0 0.2 1.6 0.0 0.1 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.4 0.0 0.0 0.3 0.0 1.1 1.0 0.0 0.0 00| 100.0
85 100 0 5 6 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 2 0 0 0 199 37
o RN
42.7 50.3 0.0 2.5 3.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 05 0.0 0.0 1.0 0.0 0.0 00| 100.0
8 R 233 62 2 0 16 0 0 0 0 0 1 0 0 0 0 0 0 0 0 2 3 0 0 0 319 82
730 194 0.6 0.0 5.0 0.0 0.0 0.0 0.0 0.0 03 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6 09 0.0 0.0 00| 100.0
592 65 0 4 0 2 0 0 0 0 0 0 0 0 0 0 0 1 0 8 2 0 0 0 674 150
INE G R
87.8 9.6 0.0 0.6 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 1.2 0.3 0.0 0.0 00| 1000
335 48 1 3 32 0 0 0 0 0 1 0 0 0 0 0 0 0 0 19 2 1 0 0 442 126
VE BN
75.8 10.9 0.2 0.7 7.2 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 43 05 0.2 0.0 00| 1000
9 101 0 0 0 0 0 0 0 0 2 0 0 0 1 0 0 1 0 0 0 0 0 0 114 19
B i X
7.9 88.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 09 0.0 0.0 09 0.0 0.0 0.0 0.0 0.0 00| 100.0
KA A2 E 2 29 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 7
Hh =3 6.5 93.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
7 41 1 0 0 0 0 0 0 0 1 3 0 0 0 0 0 0 0 0 0 0 0 0 53 14
NI R
13.2 774 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 5.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
N oE X 0 1 0 0 1 1 0 0 0 0 0 0 0 0 1 2 0 0 0 0 0 0 0 0 6 3
[
0.0 16.7 0.0 0.0 16.7 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
=R 10 22 0 1 0 0 0 0 0 0 0 0 0 0 0 8 0 1 0 1 0 0 1 0 44 13
- 22.7 50.0 0.0 2.3 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 18.2 0.0 2.3 0.0 2.3 0.0 0.0 23 00| 100.0
55 52 0 3 2 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0 114 63
7R R
48.2 456 0.0 2.6 1.8 0.0 0.0 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 09 0.0 0.0 00| 100.0
5 8 1 8 5 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 37 8
E H X
135 216 2.7 216 135 27.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
0 1 0 1 0 6 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 10 1
H A # X
0.0 10.0 0.0 10.0 0.0 60.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.0 0.0 0.0 0.0 00| 100.0
~ = 2,216 530 5 27 77 19 1 0 0 1 7 3 0 0 6 10 0 7 0 42 19 1 1 0 2972 748
= : 74.6 17.8 0.2 0.9 2.6 0.6 0.1 0.0 0.0 0.1 0.2 0.1 0.0 0.0 0.2 0.3 0.0 0.2 0.0 14 0.6 0.1 0.1 00| 1000




65¢€

RARER(TOYY-REH)
6-4 LvbhEIJOVI[H-/\v)]

BT EE (N
TEZ% (RAEOEKRES)

B | T | ®m | & | 4| 2 @ [Rx] &~ |0 | = & | & | @8 | B+~ |6 |0 |2~ % &8 | % | =]z & %
Al
EMiST m | = | B | x| & |* o w | m | m | s | A . I B o | 0 )
g | P EA w | s |5 | & |85 | % | x| K| & ]| ol
| |y || s | | | | m | m | m | % s | =
Bt # | X | K | K| K| K| K |E-| K | E | E | E | ® | x| & |8 | & | & |8 |8 | & | &8 | ;| 5 |3 A
T oM R 771 0 0 2 28 0 1 0 0 0 1 0 0 0 11 0 0 13 3 46 40 3 0 1 920 234
83.8 0.0 0.0 0.2 3.0 0.0 0.1 0.0 0.0 0.0 0.1 0.0 0.0 0.0 1.2 0.0 0.0 14 0.3 5.0 43 0.3 0.0 0.1 100.0
50 101 0 5 11 1 0 0 0 0 0 0 0 0 3 0 0 3 0 8 10 1 0 0 193 43
S
259 523 0.0 2.6 5.7 05 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 0.0 0.0 1.6 0.0 4.1 52 0.5 0.0 00| 100.0
8 R 128 110 0 0 44 0 0 0 0 0 1 0 0 0 5 0 0 1 0 21 12 1 0 0 323 78
39.6 341 0.0 0.0 13.6 0.0 0.0 0.0 0.0 0.0 03 0.0 0.0 0.0 15 0.0 0.0 0.3 0.0 6.5 3.7 0.3 0.0 00| 100.0
446 127 0 9 0 0 0 0 0 0 1 0 0 0 5 0 1 8 0 43 19 3 1 0 663 161
INE G R
67.3 19.2 0.0 14 0.0 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.8 0.0 0.2 1.2 0.0 6.5 2.9 0.5 0.2 00| 1000
154 130 1 9 74 0 0 0 0 0 2 0 0 0 4 0 1 1 0 67 14 3 0 0 460 108
VE BN
335 28.3 0.2 2.0 16.1 0.0 0.0 0.0 0.0 0.0 04 0.0 0.0 0.0 0.9 0.0 0.2 0.2 0.0 146 3.0 0.7 0.0 00| 1000
4 96 1 0 1 0 0 0 0 0 2 0 0 0 3 0 0 0 0 6 1 0 0 0 114 19
B i X
3.5 842 09 0.0 09 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 2.6 0.0 0.0 0.0 0.0 53 09 0.0 0.0 00| 100.0
KA A2 E 0 27 0 0 2 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 31 7
Hh =3 0.0 871 0.0 0.0 6.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.2 0.0 0.0 0.0 0.0 3.2 0.0 0.0 0.0 00| 100.0
4 41 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 1 0 1 0 49 18
NI R
8.2 83.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 0.0 2.0 00| 100.0
N oE X 0 3 0 0 0 1 0 0 0 0 0 0 0 0 1 2 0 0 0 0 0 0 0 0 7 2
[
0.0 429 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 143 28.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
= R 6 26 0 0 1 0 0 0 0 0 0 0 0 0 3 1 0 2 0 3 2 1 0 0 45 12
- 13.3 578 0.0 0.0 2.2 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 6.7 2.2 0.0 4.4 0.0 6.7 4.4 2.2 0.0 00| 100.0
26 77 3 2 6 0 0 0 0 1 0 0 0 0 1 0 0 1 0 2 2 1 0 0 122 55
7R R
213 63.1 2.5 1.6 49 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.8 0.0 1.6 1.6 0.8 0.0 00| 100.0
5 11 0 5 9 4 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0 0 0 0 37 8
E H X
13.5 29.7 0.0 135 243 10.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.1 0.0 0.0 0.0 00| 100.0
0 3 0 1 3 1 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 10 1
H A # X
0.0 30.0 0.0 10.0 30.0 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.0 0.0 0.0 0.0 00| 100.0
~ = 1,594 752 5 33 179 7 1 0 0 1 8 0 0 0 37 3 2 29 3 203 101 13 2 1] 2974 746
= ; 53.6 25.3 0.2 1.1 6.0 0.2 0.1 0.0 0.0 0.1 0.3 0.0 0.0 0.0 1.2 0.1 0.1 1.0 0.1 6.8 3.4 04 0.1 0.1| 1000




09¢€

MAFHER(TOvs-RE)

6-5 LvbhEJOvs[A-CD]

BT EE (N
TEZ% (RMAEOHEKRES)

B | F | ®m | & | 4| 2 @ [Rx] &~ |0 | =& | & | &8 | B+~ |6 |0 |2~ % &8 | % | =]z & %
Al
EMiST m | = | B | x| & |* | w | om | @ | s | A . I B o | o )
g | P EA w | s |5 | & |80 | % | x| K| & ]| ol
| |y | | s | | % | | m | m | m | % o
B ih X X X X X X X - X X X X X X Lt BT BT [zl 2 2 #B 2 ) s B A
T oM R 865 0 1 5 32 0 0 0 0 0 2 0 0 0 0 0 0 1 0 5 7 0 0 0 918 236
942 0.0 0.1 0.5 3.5 0.0 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 05 08 0.0 0.0 00| 100.0
121 61 0 1 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 189 47
S
64.0 323 0.0 0.5 2.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 05 0.0 0.0 0.0 00| 100.0
8 R 153 84 9 0 78 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 1 0 0 0 327 74
46.8 25.7 2.8 0.0 23.9 0.0 0.0 0.0 0.0 0.0 03 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 03 0.3 0.0 0.0 00| 100.0
616 37 0 8 0 9 0 0 0 0 1 0 0 0 0 0 1 0 0 1 1 0 1 0 675 149
INE G R
91.3 55 0.0 1.2 0.0 1.3 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.1 0.1 0.0 0.1 00| 1000
394 19 3 1 14 0 2 0 0 0 0 0 0 0 0 0 0 0 0 6 1 0 0 0 440 128
VE BN
89.5 43 0.7 0.2 3.2 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14 0.2 0.0 0.0 00| 1000
6 99 0 0 3 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 110 23
B o X
55 90.0 0.0 0.0 2.7 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
KA - A2 E 1 29 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 7
Hh =3 3.2 93.5 0.0 0.0 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
6 43 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 51 16
NI R
11.8 843 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
N oE X 0 4 0 0 0 1 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 7 2
[
0.0 57.1 0.0 0.0 0.0 143 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 28.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
=R 10 26 2 0 0 1 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 1 0 43 14
- 23.3 60.5 47 0.0 0.0 2.3 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 7.0 0.0 0.0 0.0 0.0 0.0 0.0 23 00| 100.0
19 89 8 1 6 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 124 53
7R R
15.3 71.8 6.5 08 48 0.0 0.0 0.0 00 08 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
5 3 0 6 9 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 37 8
E H X
135 8.1 0.0 16.2 243 378 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
0 0 0 1 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 1
H A # X
0.0 0.0 0.0 10.0 0.0 90.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
~ = 2,196 494 24 23 148 34 2 0 0 1 7 0 0 0 0 5 1 1 0 14 10 0 2 0 2962 758
= : 741 16.7 0.8 0.8 5.0 1.1 0.1 0.0 0.0 0.1 0.2 0.0 0.0 0.0 0.0 0.2 0.1 0.1 0.0 05 0.3 0.0 0.1 00| 1000




19¢

MAFHER(TOvs-RE)

BT FEE (N

6-6 LWbETOvI(FELR] FEE% (SO MEE )
B | F | ®m | & | 4| 2 @ [Rx] &~ |0 | =& | & | @8 | B~ |6 |0 |2~ % &8 | %] =]z & ] %
Al
EMiST m | = | B | x| & |* o w | m | @ | s | A . I B o | 0 )
g | P EA w | s |5 | & |80 | % | x| K| & | ol
| |y || s | | % | | om | m | o | % s | =
Bt # | X | K | K| K| K| K |E-| K | E | E | E | & | x| & |8 | & | & |8 |8 | & | &8 | ;8 | 5 |3 A
T oM R 864 0 0 2 31 0 0 0 0 0 1 0 0 0 0 0 0 3 0 3 4 0 0 0 908 246
95.2 0.0 0.0 0.2 3.4 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.3 0.0 0.3 04 0.0 0.0 00| 100.0
36 146 0 0 4 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 188 48
S
19.1 77.7 0.0 0.0 2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 05 0.0 0.0 05 0.0 0.0 0.0 0.0 0.0 00| 100.0
8 R 100 146 2 0 78 0 0 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 328 73
305 445 0.6 0.0 238 0.0 0.0 0.0 0.0 0.0 03 0.0 0.0 0.0 03 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
572 81 0 6 0 1 0 0 0 0 1 0 0 0 1 0 1 1 0 0 0 0 1 0 665 159
INE G R
86.0 12.2 0.0 0.9 0.0 0.2 0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.2 0.0 0.2 0.2 0.0 0.0 0.0 0.0 0.2 00| 1000
95 133 1 13 202 0 0 0 0 0 2 0 0 0 0 0 0 0 0 20 1 0 0 0 467 101
VE BN
20.3 285 0.2 2.8 433 0.0 0.0 0.0 0.0 0.0 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.3 0.2 0.0 0.0 00| 1000
8 101 0 0 3 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 114 19
B i X
7.0 88.6 0.0 0.0 2.6 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
KA - A2 E 3 28 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 7
Hh =3 9.7 90.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
5 46 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 53 14
NI R
94 86.8 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
N OE X 0 4 0 0 0 1 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 7 2
[
0.0 57.1 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 28.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
=R 10 29 0 0 1 0 1 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 43 14
- 23.3 67.4 0.0 0.0 2.3 0.0 23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.3 2.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
23 95 0 0 5 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 124 53
7R X
18.5 76.6 0.0 0.0 4.0 0.0 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
= me 4 15 0 0 16 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 37 8
= B o X
10.8 405 0.0 0.0 43.2 5.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
0 3 0 0 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 10 1
H A # X
0.0 30.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.0 0.0 0.0 0.0 00| 100.0
~ = 1,720 827 4 21 345 4 1 0 0 1 8 0 0 0 6 1 1 5 0 25 5 0 1 0 2975 745
= : 57.8 27.8 0.1 0.7 11.6 0.1 0.1 0.0 0.0 0.1 0.3 0.0 0.0 0.0 0.2 0.1 0.1 0.2 0.0 08 0.2 0.0 0.1 00| 1000




G9¢€

MAFHER(TOvs-RE)

FEEFEE (N

6-7 LbETOvs(ARE] FEE% (SO )
E | = | ®m | & |+ | 2 | @ [R&x] » |0 | = | &5 | & | @8 | &~ |6 | @& |5~ % | &8 | % | =] z | & | %
Al
EMiST m | = | B | x| & |* | w | m | @ | s | A . I B o | 0 )
g | P EA w | s |5 | & |80 | % | x| K| & ]| ol
| |y | | | | | | | m | m | % s | =
Bt # | X | K | K| K| K| K |E-| K | E | E | E | ® | x| & |8 | & | & |8 |8 | & | &8 | ;& | 5 |3 A
T oM R 910 0 3 2 11 0 0 0 0 0 1 4 0 0 0 0 0 0 0 1 1 0 0 1 934 220
974 0.0 0.3 0.2 1.2 0.0 0.0 0.0 0.0 0.0 0.1 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.0 0.0 0.1 100.0
167 12 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 182 54
S
918 6.6 0.0 0.0 1.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
8 R 299 17 2 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 321 80
93.1 53 0.6 0.0 09 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
666 6 0 3 0 4 0 0 0 0 0 0 0 0 1 0 0 0 0 2 1 0 0 0 683 141
INE I R
975 09 0.0 04 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.3 0.1 0.0 0.0 00| 1000
425 6 1 0 5 0 2 0 0 0 0 0 0 0 0 0 0 0 0 3 0 0 0 0 442 126
mE R
96.2 14 0.2 0.0 1.1 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.7 0.0 0.0 0.0 00| 1000
62 43 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 106 27
B i X
58.5 40.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
KA R 2R 2 18 0 0 1 0 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 7
Hh =3 6.5 58.1 0.0 0.0 3.2 0.0 323 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
7 41 1 0 0 0 0 0 0 0 1 6 0 0 0 0 0 0 0 0 0 0 0 0 56 11
NI R
125 73.2 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.8 10.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
N OE X 1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 7 2
[
143 28.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 57.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
=R 11 15 2 0 1 0 0 1 0 0 0 4 0 0 0 7 0 0 0 0 0 0 0 0 41 16
- 26.8 36.6 49 0.0 24 0.0 0.0 24 0.0 0.0 0.0 9.8 0.0 0.0 0.0 171 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 100.0
128 12 1 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 143 34
7R R
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€9¢

MAFHER(TOvs-RE)

BT FEE (N

6-8 LhETOVI(EES- LR FEE% (SO MEE )
E | F | wm | & |+ | & | @ [R&x] »~ |0 | = | &5 | & | @8 | &~ | 6| @& |5~ %] &8 | % | =] z | & | %
Al
EMiST m | = | B | x| & |* o w | m | m | s | A . I B o | 0 )
g | P EA w | s |5 | & |80 ® | x| K| & | ol
| |y || | | % | | m | m | o | % s | =
B ih X X X X X X X - X X X X X X it BT BT [l 2 2 #B 2 2] s B A
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W 7 0 0 13 3 12 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 35 10
= B it X
20.0 0.0 0.0 37.1 8.6 343 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 100.0
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KA A2 E 1 28 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 31 7
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